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5= X 4 B | THALOMER| hoxEs [ o . [TEALOKE] B | AOKES X % & | LWALORR [ hoxEs|[ o o [ LEHSORR [ &S [ hoxEs
(m) (m) (kN/m) EE R (m) (m) (kN/ i) (m) (m) (kN/m) (m) (m) (kN/ )
1 100kN/m#&#8 2 % 1.00[0.00 ~ 2.85 145.17|3m&#82%| - ~ - - —| 100kN/mi%E#%% 1.00[ 10.83 ~ 24.00 145.17|3m%x#82 % -~ - - -
Zh LIt 1.00[ 2.85 ~ 10.64 100.00[ st | 000 ~ 10.64| 2.87 14.49 ZhLIst 1.00[ 5.00 ~ 10.83 100.00[ Zhiist | 500 ~ 24.00| 2.87 14.49
) 100kN/m#&#8Z % 1.00[0.00 ~ 3.06 148.75|3m&#82%| 000 ~ 0.36] 3.21 16.20| 100kN/mi%#2%.% 1.00[ 10.76 ~ 26.00 148.75| 3m&#82 3| 25.00 ~ 26.00| 3.21 16.20
Zh LIt 1.00[ 3.06 ~ 10.85 100.00[ Zh s [0.36 ~ 10.85| 3.00 15.16 ZhLIst 1.00[ 5.00 ~ 10.76 100.00[ ZhLust | 500 ~ 25.00| 3.00 15.16
3 100kN/m%#8 2 % 1.00[0.00 ~ 3.16 150.49(3m%#8%%| 000 ~ 0.03| 3.02 15.25| 100kN/mi%#2%.% 1.00[ 10.54 ~ 29.80 150.49( 3m&#82 5| 25.00 ~ 29.80| 3.02 15.25
ZhLIst 1.00[3.16 ~ 10.95 100.00[ Zhiust (003 ~ 10.95| 3.00 15.16 ZhLIst 1.00[ 5.00 ~ 10.54 100.00[ ZhLust | 500 ~ 25.00| 3.00 15.16
s 100kN/m#&#8Z % 1.00[0.00 ~ 3.06 148.80(3m%#8x%| 000 ~ 0.10| 3.05 15.40| 100kN/mi%#2%.% 1.00[ 10.66 ~ 31.80 148.80[ 3m&#8x %[ 30.00 ~ 31.80| 3.05 15.40
ZhLIst 1.00[ 3.06 ~ 10.85 100.00[ Zhius [0.10 ~ 10.85| 3.00 15.16 ZhLst 1.00[ 5.00 ~ 10.66 100.00[ Zhius | 500 ~ 30.00| 3.00 15.16
5 100kN/m#&#8Z % 1.00[0.00 ~ 3.16 150.42|3m#%#8%%| 000 ~ 0.16] 3.08 15.57| 100kN/mi%#2%.% 1.00[ 10.59 ~ 31.80 150.42( 3m%#82 %[ 30.00 ~ 31.80| 3.08 15.57
ZhLIst 1.00[3.16 ~ 10.94 100.00[ Zzhiust [0.16 ~ 10.94| 3.00 15.16 ZhLst 1.00[ 5.00 ~ 10.59 100.00[ ZhList | 500 ~ 30.00| 3.00 15.16
6 100kN/m#&#8 2 % 1.00[0.00 ~ 3.36 154.03[3m&#82%( 000 ~ 0.60| 3.34 16.89| 100kN/mi%#2%.% 1.00[ 10.83 ~ 30.00 154.03[3m&#82 5| 25.00 ~ 30.00| 3.34 16.89
Zh LIt 1.00[3.36 ~ 11.15 100.00[ Zhius [060 ~ 11.15| 3.00 15.16 ZhLIst 1.00[ 5.00 ~ 10.83 100.00[ ZhLus | 500 ~ 25.00| 3.00 15.16
. 100kN/m#&#8 2 % 1.00[0.00 ~ 3.40 154.69(3m%#8%%| 000 ~ 0.49| 3.27 16.53| 100kN/mi%#2%.% 1.00[ 10.64 ~ 30.80 154.69(3m&#82 %[ 25.00 ~ 30.80| 3.27 16.53
ZhLIst 1.00[3.40 ~ 11.19 100.00[ Zhiust (049 ~ 11.19] 3.00 15.16 ZhLIst 1.00[ 5.00 ~ 10.64 100.00[ ZhLus | 500 ~ 25.00| 3.00 15.16
8 100kN/m#&#8 2 % 1.00[0.00 ~ 3.20 151.08[3m%#8%%| 000 ~ 0.45| 3.26 16.50| 100kN/mi%#2%.% 1.00[ 10.96 ~ 27.88 151.08[3m&#82 5| 25.00 ~ 27.88| 3.26 16.50
ZhLIst 1.00[3.20 ~ 10.98 100.00[ Zhiust [045 ~ 10.98| 3.00 15.16 ZhLIst 1.00[ 5.00 ~ 10.96 100.00[ Zhius | 500 ~ 25.00| 3.00 15.16
o 100kN/m#%#8 2 % 1.00[0.00 ~ 2.49 139.03[3m%#8%%| 000 ~ 0.12| 3.08 15.57| 100kN/mi%#2%.% 1.00[ 1211 ~ 24.00 139.03[ 3m&#82 %[ 20.00 ~ 24.00| 3.08 15.57
Zh LIt 1.00[ 2.49 ~ 10.28 100.00[ Zhuust [0.12 ~ 10.28| 3.00 15.16 ZhLIst 1.00[ 5.00 ~ 12.11 100.00[ ZhLust | 500 ~ 20.00| 3.00 15.16
0 100kN/m#&#8 2 % 1.00[0.00 ~ 2.61 140.95|3m%#8%%| 000 ~ 0.05 3.03 15.34| 100kN/mi%#2%.% 1.00[ 11.75 ~ 24.00 140.95(3m&#82 %( 20.00 ~ 24.00| 3.03 15.34
Zh LIt 1.00[ 2.61 ~ 10.39 100.00[ Zhuust [0.05 ~ 10.39] 3.00 15.16 ZhLIst 1.00[ 500 ~ 11.75 100.00[ Zhius | 500 ~ 20.00| 3.00 15.16
» 100kN/m#&#8 2 % 1.00[0.00 ~ 2.65 141.71|3mz#822| - ~ - - —| 100kN/mi%E#2% 1.00[ 10.87 ~ 22.35 141.71| 3m%#82 % -~ - - -
ZhLIst 1.00[ 2.65 ~ 10.44 100.00| Zhust | 000 ~ 10.44| 2.88 14.55 ZhLIst 1.00[ 5.00 ~ 10.87 100.00[ Zhiust | 500 ~ 22.35| 2.88 14.55
i 100kN/m#&#8 2 % 1.00[0.00 ~ 2.46 138.44[3mz#82%| - ~ - - —| 100kN/mi%E#%% 1.00[ 11.26 ~ 21.66 138.44|3m%#82 % -~ - - -
Zh LIt 1.00[ 2.46 ~ 10.24 100.00| Zhust | 000 ~ 10.24| 2.96 14.95 ZhLIst 1.00[ 5.00 ~ 11.26 100.00[ ZhLust | 500 ~ 21.66] 2.96 14.95
i 100kN/m#&#8 2 % 1.00[0.00 ~ 2.54 139.81|3mz#82%| - ~ - - —| 100kN/mi%E#Z% 1.00[ 10.72 ~ 21.30 139.81|3m%#82 % -~ - - -
Zh LIt 1.00[ 2.54 ~ 10.32 100.00| =5 | 000 ~ 10.32| 2.83 14.31 ZhLIst 1.00[ 5.00 ~ 10.72 100.00[ Zhiust | 500 ~ 21.30| 2.83 14.31
" 100kN/m#%#8 2 % 1.00[0.00 ~ 221 134.30[3mz#82%| - ~ - - —| 100kN/mi%E#2% 1.00[ 11.22 ~ 19.95 134.30| 3m%#22 % -~ - - -
Zh LIt 1.00[2.21 ~ 999 100.00| =5t | 000 ~ 9.99| 2.59 13.08 ZhLIst 1.00[ 500 ~ 11.22 100.00[ Zhius | 500 ~ 19.95| 2.59 13.08
- 100kN/m#&#8 2 % 1.00[0.00 ~ 2.35 136.59(3mz#8z%| - ~ - - —| 100kN/mi%E#2% 1.00[ 10.55 ~ 20.00 136.59| 3m%x#22 % -~ - - -
Zh LIt 1.00[2.35 ~ 10.13 100.00f st | 000 ~ 10.13] 2.75 13.91 ZhLIst 1.00] 5.00 ~ 1055 100.00[ #hius | 500 ~ 20.00| 2.75 13.91
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&5 X 4 B | Timho0iERE jmxa;é R 4 TiwmALDKE | FH& meéjé K 4 B | Limhools jmxéjé R 4 HiEhookks | & jmjt?gé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
16 100kN/m##8 %% 1.00{0.00 ~ 217 133.66| 3m%x#B=x 5% = Rt = = —| 100kN/mM%#2Z % 1.00{ 11.03 ~ 19.37 133.66| 3m%x#B 25 =l ~ - - =
s 1.00]2.17 ~ 9.95 100.00f Zhkl9t |0.00 ~ 9.95| 256 12.92 s 1.00f 5.00 ~ 11.03 100.00f =hl4t | 5.00 ~ 19.37| 2.56 12.92
17 100kN/m##8 %% 1.00{0.00 ~ 1.74 126.71| 3m%x #8235 = Rt = = —| 100kN/mM%#2Z % 1.00{ 11.57 ~ 18.00 126.71| 3m%x#B 25 =l ~ - - =
s 1.00]1.74 ~ 953 100.00f Zhkl9t |0.00 ~ 9.53| 2.64 13.33 s 1.00f 500 ~ 11.57 100.00| Zhkl4t | 5.00 ~ 18.00f 2.64 13.33
18 100kN/m##8 %% 1.00{0.00 ~ 0.10 101.53| 3m%*x#B2 5% = Rt = = —| 100kN/mM%#2Z % 1.00{ 15.36 ~ 15.79 101.53|3m%x#B 25 =l ~ - - =
s 1.00{0.10 ~ 7.89 100.00f Zhkl9t |0.00 ~ 7.89] 294 14.84 s 1.00f 5.00 ~ 15.36 100.00| Zhilst | 5.00 ~ 1579 2.94 14.84
19 100kN/m##8 %% 1.00{0.00 ~ 1.05 115.87|3m%x#B2 5 = Rt = = —| 100kN/mM%#2 % % 1.00{ 12.29 ~ 16.00 115.87|3m%x#B25 =l ~ - - =
s 1.00/1.05 ~ 8.84 100.00f Z=hkist |0.00 ~ 8.84| 2.72 13.75 s 1.00f 500 ~ 12.29 100.00| Zhl4+ | 5.00 ~ 16.00f 2.72 13.75
20 100kN/m##8 %% 1.00{ 0.00 ~ 0.25 103.70| 3m%x#B 25 = Rt = = —| 100kN/mM%#2Z % 1.00{ 13.79 ~ 14.70 103.70| 3m%#B 25 =l ~ - - =
ZHnLs 1.00/0.25 ~ 8.04 100.00f Zhklst |0.00 ~ 8.04] 2.62 13.22 s 1.00f 500 ~ 13.79 100.00f Zhlst | 5.00 ~ 1470 2.62 13.22
21 100kN/m##8% % 1.00{0.00 ~ 1.09 116.40| 3m%x#B2 5% = Rt = = —| 100kN/mM%#2Z % 1.00{ 10.57 ~ 14.03 116.40| 3m%#B 25 =l ~ - - =
s 1.00{1.09 ~ 8.87 100.00f Zhkl4t |0.00 ~ 8.87| 2.14 10.84 s 1.00f 5.00 ~ 10.57 100.00f Zhl4t | 5.00 ~ 14.03| 2.14 10.84
99 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3ImZEBZ B o ~ = = =
s 1.00/0.00 ~ 5.38 67.12| =hLlst | 000 ~ 538| 1.85 9.37 s 1.00f 500 ~ 6.03 67.12 =h 4+ | 500 ~ 6.03] 1.85 9.37
23 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3ImEBZ B o ~ = = =
s 1.00/0.00 ~ 540 67.42| =hLlst 1000 ~ 540| 1.83 9.24 s 1.00f 500 ~ 6.00 67.42 =4 | 500 ~ 6.00f 1.83 9.24
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
ZFhst ~ ZFhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
Fhst ~ st ~ st ~ Zh st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
Fhst ~ FhLst ~ st ~ Zh st ~
100kN/mM%#BZ 5 ~ ImEBAD ~ 100kN/mM%#8% % ~ ImERBAD ~
Fhst ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
Fhst ~ FhLst ~ ZFhLst ~ Zh st ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ ImERBAD ~
Fhst ~ FhLst ~ FhLst ~ Zh st ~
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